BN E X

$=1:30

ARE R

3, 700~4, 400

144. 6m2

7
N
N

144. 6m2

i

/B\ 3
=E A
FEEEE A

BAEZHEAs (13)  2.35t/m3  t=5cm

AsELE]  FTS5A La—k (PK-3)

TREREE #EHMRC-40 Figt=2cm

137 3m2,

<
Bta
A

BEX #%

3, 500~3, 900

: — =B
' u FREEE
HEEKR

s=1:20 SHEERRBERE (1)

=RE BAZTHEA(A3) 2 35t/m3  t=bcm

AsEL#E| TS5 4 La— bk (PK-3)

XCQHEEFA YA XERTET D,

T g | PHOEEBEME11S
TEEE #EHRC-40 Fit=dcn LT S RHREBAE @E) TF

=B BAEZHMEAs(13) 2.35t/m3  t=bcm . i EMETEE
AsELEF  TS54 La— bk (PK-3)

TEEE #EHMRC-40 Figt=2cm

HEDTER FER - REEMER

% R B HEES| 1 2

- EHREH
BRAE EHIFEBF



No. 0+18. 2 ([RIFf)

No. 0+3. 6 ([E1AfT) ~No. 0+18. 2

No. 0+18. 2 (RIF)

Mol E X

RE

FREEE

SRR (1)

SRR (3)

KiEY

R L (RC-40)

HEEMAM

Y- MEE P ERER L

3,700~3, 850

No. 0~No. 0+3. 6

3, 850~4, 400

No. 0+3. 6 (EFR) +18.2

=B

TREEIE

SHEhRBR (1)

LRI (2)

$=1:30

ARK %

No. 1+2. 8 ([ElRT) ~No. 1+15.5

+2. 8(REAT) +15.5

®IE

4.00

3.90

TERE

4.00

3.90

SRR (1)

4.00

3.90

E3E

THEEIE

SHEERRBEFE (1)

SHERRBEFE (3)

RIEY

#ER L (RC-40)

FEEEIvY-+

WY~ MEEMEUE L

xE

THEEIE

ShE=hRAE R (1)

ShERhRAE R (3)

RiEY

2R L (RC-40)

FEEEIvY-+

109 MEEWIEREE L

COEAIFA YA XERTET D,

I % 4

SMIFEMEME 115
EHETTSRNERHE HE I

L&A

i ERETTSR RN

HEDTER

HEHTE R

R

$=1:30 EEEE| 2 2

E == K]

EWmEEE
EEIEEHBEM




